230l XII=.

o OI=='
—

0j0|= SOIOIHLL ZZOHN
o1710| JjBHY &=

LHER4O M, "SAIS S Q1] 528 2
A% Q20| U2 SANTIE ALHDI

(=
. =019] ZHIA SEAS MATHL.
(=
. =219] &%= X|&lS MITHL
O
I1l. =219 O} 2EE8 WHE Mcl
L-0OJO]| OI=TIAI "0} OI=2 OUL
= 17 F20PH DS ARIZ HAHIIE 00| oS V.22 SEX= SE2% &8 258
A2 AHE XA %2 24429 MTE Moo, =219 BH 20| HAHIS MATHL.
2 HIE ASAE WS S XSS MBS0 X} E.
Ol = =
[H1. &HIN S 4] [B2. 2% & Xl 4]
L 5z o |
z e :
OIHIX E A H7tnre 28} 1 Fd0| o2 W £ % 25[EE oy Bol B He0 70 886
== 7o =° < ) U2 St FA SOE HOE MEC 70 88
=X 26 329 0= &0 2 25 |3 %2 252 24 Hof 940 =23t 58 734
dE _ 4 HHY NEH 222 9o H=2 = YT E0YE HEE S) 58 734
O:IX|' 53 671 7-|7|- _T:I:':El- 16 203 5 -5-_|-.‘;':':,I'_ “’I"EE% %Jll%—':': %%.% :l:_ll El:l'E %E':_—T: _ Egl:
o st 1 13 =< b E 35 443 dEE EZois A0 2P O 20 -
T ' AFEN © ' 6 oF F UEHE S0 A2 {0 siE0 54 684
XEZE 6 7.6 OFZFLIE 14 17.7 7 HEHDE EO| =5 £0 51 671
me== 3 TEHE 2T S A LH”1|«*~1 2q9| Hig 3 671
gz o=8 13165 OFF LFE 12 152 |0 22 %o £X82 LU S0 Listkey 0 633
< o 0 %= SET W HUHE £0| S8z ot 44 557
zotzE 10 127 ¥ o 58 734 || o=so oo 53 ﬂﬂE%; o =p 1 o
ZZ014 49 620 AY oL 21 266 |2 OEASEEAZNELH 33 418
13 AMELEZDE T1 LM == 0Pk 2Lk 25 367
oy 27 34.2 kEH 2 14 BE %2 MSMIRL 713700 B 24 304
o 15 =0 8z F0j2ik =0 £0] #7kE B £ 24 3u4
()
7= 17 21.5 3-4 21  26.6 [E3 oL ngl
MZD 15 190 OF2 5-6 10 127 + 8 a9
H xlo A0} | OO}
7|12 42 53.2 s 7-8 7 8.9 2 = nl % lnl %
1 SAES 210 % S35 #id 50| St 57 722 22 278
JNT=: _
s e RO 8 > 30 maovil gom BR0L ABINE 0 NBE RO 4 557 35 4
O|l= 2 2.5 11710| & 6 7.6 1 EH0| SI0{RA QA A 20| 0 FEE E0| 9ot M 430 45 570
4 AMETED FREY Oep oA, SAHA 228 50| i 31392 48 604
=z F
=1 s B NI S 9 5 HE20| AIGIH O|AL QI ETEIR| UD BAES Sl Eo| OCk 37 278 45 570
1% 30 380 @ QF HIAEFOF 3 3.8 | 6 40| 4o %20 ST NBSAE £ NSB O YT 21 266 58 734
7 57HR| 0)zel & FA0| AEEh [0| SIC 20 233 50 747
o > K| HFOETT ’ | ) .
28 30 380 F=2 SO g |6 A RRIM AT ST 152 o
=7 33 7 8.9 H 2 9 % 0P| Yl EFOILE BE 20 AEE Hol Gl 13 165 65 823
57 = — 10 CHE MO & 45 AFEs 30| S 12 152 67 @48
HE 4 4 5.1 o 1 42  53.2 11 MU CHE AR F U2 S AFESH Ho| 9l 9 114 70 836
o =[] H10F [12 ARN| & QR S AL2SH E ST j
5I:IO:I 5 6.3 2%40'6} 36 45 6 12 I-: t|it'|c Al:h_ AED| |__* = 2 A 50| SiCH 6 76 73 8924
O| A== 13 &= 588 [ =1 B4z 2% 50| 5l 576 73 024
63 3 338 DEC} 1 14 MSD: 37£27 |
al = = = = =
[B4. 212 X 4SaE SA0 OE 4SX14, 48 2429 K10]]
of 44(75.9%) 10(47.6%)
A 3s5H 5.635 017
= ofL| @ 14(24.1%) 11(52.4%)
0] 7(13.0%) 2(66.7%) 3(13.6%)
=8 6.420 .040
OfL| 2 47(87.0%) 1(33.3%) 19(86.4%)
0] 3(5.6%) 1(33.3%) 5(22.7%)
A9 6.053 .043
OtL| 2 51(94.4%) 2(66.7%) 17(77.3%)
- (& XI0] UM EAMNA ZZ0|a2 =210] 67%= MUAHA(CHES12010)21 12.7%04l HIoH 0 =AM, 010 @t &
- F0 HE=E A0I2lT Si1 201 AT 2il= 20U, 2= A2 A=20 2astl g=0M 30.4%= I 22

QE WA ARZil= M XBEAE MUMA (514512010124 HIulOIAE U, A4S 9 GH O
M| A= SS0IM 72.2%IF 220 Eol A ?_* ‘-’.‘%

O @dtX0l2ta] M2olk= A2Z UENFO( x 2 =5.64, p=.01

e A2Z UEH (x 2 =6.42, p=.040) [ x 2 =6.05, p=.043) M=ot Xt

A= SEFT I II“'OII H=0l1 A= 65M 012 =212 HA 2= Ot

= 90l 2 970 ZE Hluol Lutetol=0dl Felol

Hum} -

— WL

Gi ]2} :

o |-E=|A'II:II-I:I-I
J-I-l_—lo=l

HHE S
o=,

=

_I IIAII—II:QI.
SR
0I20H= 65A

o

2H2010)01 et
= O

™ (2001) 0l
32201001 3 - H2TH &
10. 08.~2018. 1012

SPSS Win Program Ver.22

X test-E—ﬁ'l

o~ M
IIIIIII
e

.

2018.

it

ClIj & HoHsE = (] ﬂl:l_-’ j}

O

Q 02 08

2
2. &4
HI X
79|%l
O
AL
p=.0

 3.7+2789

g2 st 1S
7), OIAI] Rt
OOl KL= o

=]

otz
@E%% 20 =8

1.6%= IS =2

OfF &

A= 249 X010 M
gg&s 230D 2=
H =282=% H30l= A0l 81t O U =
OiM /I8t XH0IS 2 &(x 2 =5.64, p=.017).

=0 IE A=SXIAI9 XI0IMAME "X Utetll
utors SHH A28t 0| AL = S=0IA
=6.42, p=.040), "<
]
=6.05,

St XI0I1S HRACM( x 2
Il #0l 830Ut H—-8& &0 AIE
"= =0ME |2S XI0IE H&(x 2
43)

R

X
al




